E

08

BUBBLER, WITH BRASS CARTRIDGES CHROME #176732

12 | STRAINER, STAINLESS STEEL BK 131202

13 |FILTER FOR HAWS VALVE

17 [MALE RUN TEE SWIVEL, ITEM #171X6S

19 | WASHER, 3/8" STANDARD BORE ID

22 |BOWL LINER SPACER (STRAINER/DRAIN PIPE COUPLER) ClI
24 |DRAIN PIPE, 3/4" GALV. PIPE X 28" LONG, THREADED ENDS
26 |[MALE PUSH CONNECTOR, ITEM #1168X6X6, FOR BUBBLER

27 |SOCKET HEAD FLAT SCREW, 3/8" — 18 X 1" LONG STEEL

28

ALLEN SET SCREW, 1/2" — 13 X 1” LONG, STEEL

29

ALLEN SET SCREW, 5/16" — 18 X 7/8" LONG, STEEL

30

HEX HEAD BOLT, 5/16" — 18 X 1.5" LONG, STEEL

33

NEOPRENE GASKET, 2 1/4” X 2 3/4" X 1/32"

NOTES:

POWDER COATED A "STD” CARDINAL COLOR

OLYMPIC FOUNDRY INC.

6625 STEP DRINKING FOUNTAIN

MATL: FOUNTAIN-DUCTILE IRON ASTM AS36, CL &0-55—06

RATING: N—A |PART NO. 84-6623

APPROX WT: 159 LBS. PER SET REV: A DATE: 04/26/04 CREATED DRAWING REV
DOCUMENT APPROVED DWN: CL DATE: 04/26/04 mwmwzﬂ REV: X DATE: XX/XX/XX DSC: A
BY: DATE: CHKD: CL DATE: 04/26/04 XSH..wxE DWG # 6623 STEP FOUNTAIN _wo>_.m" N/A _m_._mmﬂ 1 OF 1




